Which of the following correctly multiplies 409 x T using the standard algorithm?

i 409
409 409
@ e 7 =~ T @ 5 T
2,93: 2.863 2 803
Multiply. Multiply.
23 x 630 = 3,000
x 400

Find the product 1x429

Find the product.
Choose one 1. 9.643
~ X i
O 629 _
O 329
O 429
O 829
4. 8,885
x 49

Find the answer ? x 2000 = 24000

Choose one

(] 15 O 24

(3 142

‘:J 13 .j:'j.

Choose one

1.  x17X890=0
2.809x___ =809
3. 10tensx 100 tens=__tens
4. 800 x ___ =8000
5.99x___ =99000
6. 77x____=109X
7.108x ___x___ =22x33x_____
2. 9518 3. 8,460
* 3 x_a
5 1,598 6. 7,386
<16 x 9%

Find the product 6x400
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